

Race and Non-electoral Political Participation in Brazil, South Africa, and the United States

Online appendix

This document contains the descriptive statistics and regression coefficients used to generate the graphs included in the main text.

Tables reporting the descriptive statistics display the percentage, the standard error, and the 95% confidence interval for the percentage.

Tables reporting the regression coefficients display the coefficient associated standard error, z-value, and the p-value.

The method employed to estimate the standard errors and to correct them (for the between-inputation sample variation in the point estimate) are detailed in the main text.

Appendix 1: Descriptive Statistics

Descriptive statistics:
Political activist in Brazil, International Social Survey Programme.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
White	34.00	1.65	30.77	37.22
Black	33.48	3.02	27.56	39.39
Brown	32.34	1.65	29.11	35.58
Boycott				
White	11.32	1.11	9.15	13.49
Black	11.59	2.04	7.60	15.58
Brown	6.92	0.91	5.13	8.71
Demonstrations				
White	20.55	1.40	17.80	23.30
Black	17.07	2.38	12.41	21.72
Brown	16.69	1.33	14.09	19.29
Rally				
White	34.02	1.64	30.80	37.24
Black	37.99	3.09	31.93	44.05
Brown	40.78	1.75	37.36	44.20
Contact Politicians				
White	11.38	1.11	9.22	13.55
Black	9.98	1.93	6.19	13.76
Brown	10.92	1.12	8.74	13.11
Donation, Fundraising				
White	10.27	1.05	8.20	12.34
Black	9.26	1.84	5.64	12.87
Brown	10.55	1.08	8.43	12.68
Contact Media				
White	3.64	0.66	2.34	4.94
Black	3.45	1.20	1.11	5.80
Brown	3.99	0.70	2.61	5.37

Source: 2004 International Social Survey Programme.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Political activist in South Africa, International Social Survey Programme.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
Black	6.60	0.60	5.43	7.78
White	32.24	2.57	27.19	37.29
Coloured	17.67	1.86	14.03	21.31
Boycott				
Black	12.73	0.81	11.14	14.32
White	7.34	1.43	4.54	10.15
Coloured	10.03	1.52	7.06	13.00
Demonstrations				
Black	19.38	0.96	17.49	21.27
White	4.57	1.14	2.34	6.80
Coloured	15.21	1.80	11.69	18.74
Rally				
Black	34.86	1.16	32.60	37.13
White	20.78	2.22	16.43	25.13
Coloured	24.57	2.14	20.37	28.77
Contact Politicians				
Black	7.04	0.62	5.82	8.26
White	11.14	1.72	7.77	14.52
Coloured	9.61	1.48	6.72	12.50
Donation, Fundraising				
Black	11.14	0.77	9.64	12.64
White	15.72	2.01	11.79	19.65
Coloured	10.98	1.58	7.88	14.08
Contact Media				
Black	2.76	0.40	1.97	3.56
White	2.07	0.77	0.56	3.59
Coloured	4.05	1.00	2.09	6.01

Source: 2004 International Social Survey Programme.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Political activist in the United States, International Social Survey Programme.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
White	70.52	1.35	67.88	73.16
Black	56.05	3.39	49.40	62.69
Boycott				
White	42.57	1.47	39.69	45.45
Black	25.16	2.97	19.34	30.97
Demonstrations				
White	18.25	1.14	16.02	20.48
Black	21.91	2.85	16.33	27.48
Rally				
White	35.10	1.40	32.35	37.85
Black	23.21	2.89	17.55	28.88
Contact Politicians				
White	48.17	1.48	45.27	51.07
Black	26.42	3.01	20.53	32.31
Donation, Fundraising				
White	53.41	1.47	50.53	56.29
Black	34.90	3.26	28.50	41.29
Contact Media				
White	15.68	1.08	13.57	17.79
Black	11.14	2.13	6.96	15.32

Source: 2004 International Social Survey Programme.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Political activist in Brazil, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
White	58.60	1.79	55.10	62.10
Black	58.82	4.22	50.55	67.10
Brown	50.57	2.11	46.43	54.71
Boycott				
White	8.80	1.03	6.78	10.82
Black	11.09	2.74	5.71	16.46
Brown	5.51	0.98	3.60	7.43
Demonstrations				
White	19.01	1.43	16.21	21.80
Black	19.12	3.37	12.52	25.72
Brown	16.72	1.59	13.61	19.83

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Political activist in South Africa, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
Black	9.84	0.67	8.52	11.17
White	28.40	1.98	24.52	32.28
Coloured	22.93	2.49	18.05	27.81
Boycott				
Black	13.47	0.77	11.96	14.97
White	3.17	0.78	1.64	4.70
Coloured	15.65	2.13	11.47	19.83
Demonstrations				
Black	17.01	0.84	15.37	18.66
White	6.15	1.06	4.07	8.22
Coloured	17.72	2.25	13.31	22.14

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Political activist in the United States, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Petition				
White	76.90	1.40	74.16	79.64
Black	66.47	4.30	58.05	74.90
Boycott				
White	21.15	1.35	18.49	23.80
Black	24.03	3.90	16.38	31.68
Demonstrations				
White	14.30	1.17	12.02	16.59
Black	21.51	3.74	14.19	28.83

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Membership in voluntary organizations in Brazil, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Leisure				
White	21.03	1.49	18.11	23.95
Black	17.51	3.32	11.01	24.02
Brown	18.65	1.64	15.42	21.87
Interest				
White	16.76	1.38	14.06	19.46
Black	15.54	3.14	9.40	21.69
Brown	15.44	1.53	12.44	18.45
Activist				
White	17.93	1.40	15.19	20.68
Black	12.94	2.92	7.21	18.67
Brown	14.11	1.48	11.21	17.01
Church				
White	55.76	1.81	52.22	59.30
Black	50.74	4.31	42.29	59.18
Brown	46.26	2.11	42.13	50.39
Political parties				
White	4.79	0.78	3.26	6.32
Black	6.65	2.14	2.44	10.85
Brown	5.82	1.00	3.86	7.78

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Membership in voluntary organizations in South Africa, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Leisure				
Black	19.01	0.86	17.32	20.69
White	27.83	1.98	23.96	31.71
Coloured	25.00	2.57	19.97	30.03
Interest				
Black	10.52	0.67	9.20	11.84
White	15.93	1.60	12.79	19.08
Coloured	12.50	1.94	8.70	16.30
Activist				
Black	6.80	0.55	5.72	7.89
White	17.47	1.67	14.20	20.73
Coloured	7.99	1.59	4.88	11.10
Church				
Black	47.81	1.10	45.65	49.96
White	63.15	2.11	59.01	67.28
Coloured	65.28	2.81	59.77	70.78
Political parties				
Black	8.83	0.62	7.60	10.05
White	6.72	1.10	4.57	8.86
Coloured	5.90	1.39	3.18	8.62

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Descriptive statistics:
Membership in voluntary organizations in United States, World Values Survey.

Race	Percentage	Standard error	95% CI LB	95% CI UB
Leisure				
White	28.05	1.48	25.14	30.96
Black	30.77	4.18	22.58	38.96
Interest				
White	21.63	1.39	18.91	24.35
Black	19.62	3.67	12.43	26.81
Activist				
White	19.99	1.32	17.40	22.59
Black	14.63	3.22	8.32	20.94
Church				
White	36.59	1.59	33.48	39.71
Black	50.28	4.48	41.50	59.07
Political parties				
White	18.56	1.30	16.01	21.10
Black	17.65	3.44	10.90	24.40

Source: World Values Survey Wave 5.

Note: 95% CI LB and 95% CI UB indicate, respectively, the lower and upper bounds of the 95% confidence interval.

Appendix 2: Regression Analysis

Regression results:
Political activist in Brazil, International Social Survey Programme.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	-0.023	0.155	-0.150	0.881
Race	Brown	-0.075	0.133	-0.562	0.574
Race+SES	Black	0.125	0.163	0.767	0.443
Race+SES	Brown	0.084	0.138	0.607	0.544
Race+Attitudes	Black	-0.056	0.165	-0.339	0.735
Race+Attitudes	Brown	-0.006	0.139	-0.040	0.968
Race+All	Black	0.057	0.172	0.334	0.738
Race+All	Brown	0.096	0.143	0.674	0.501
Boycott					
Race	Black	0.026	0.241	0.109	0.913
Race	Brown	-0.541	0.238	-2.276	0.023
Race+SES	Black	0.241	0.250	0.965	0.335
Race+SES	Brown	-0.330	0.246	-1.340	0.180
Race+Attitudes	Black	0.004	0.251	0.017	0.986
Race+Attitudes	Brown	-0.411	0.252	-1.634	0.102
Race+All	Black	0.172	0.260	0.662	0.508
Race+All	Brown	-0.274	0.256	-1.072	0.284
Demonstration					
Race	Black	-0.229	0.197	-1.163	0.245
Race	Brown	-0.256	0.159	-1.606	0.108
Race+SES	Black	-0.100	0.202	-0.495	0.620
Race+SES	Brown	-0.132	0.165	-0.800	0.424
Race+Attitudes	Black	-0.288	0.209	-1.375	0.169
Race+Attitudes	Brown	-0.129	0.174	-0.738	0.460
Race+All	Black	-0.227	0.213	-1.066	0.287
Race+All	Brown	-0.093	0.178	-0.521	0.602
Rally					
Race	Black	0.173	0.150	1.147	0.251
Race	Brown	0.289	0.128	2.254	0.024

Race+SES	Black	0.179	0.153	1.175	0.240
Race+SES	Brown	0.291	0.131	2.215	0.027
Race+Attitudes	Black	0.167	0.160	1.043	0.297
Race+Attitudes	Brown	0.332	0.135	2.459	0.014
Race+All	Black	0.132	0.163	0.812	0.417
Race+All	Brown	0.292	0.139	2.096	0.036
Contact Politicians					
Race	Black	-0.149	0.254	-0.585	0.559
Race	Brown	-0.047	0.209	-0.223	0.823
Race+SES	Black	-0.006	0.262	-0.023	0.982
Race+SES	Brown	0.096	0.217	0.439	0.661
Race+Attitudes	Black	-0.210	0.278	-0.757	0.449
Race+Attitudes	Brown	0.087	0.222	0.394	0.694
Race+All	Black	-0.150	0.285	-0.528	0.598
Race+All	Brown	0.122	0.231	0.529	0.597
Donation, Fundraising					
Race	Black	-0.115	0.261	-0.441	0.659
Race	Brown	0.031	0.225	0.136	0.892
Race+SES	Black	-0.092	0.264	-0.348	0.728
Race+SES	Brown	0.068	0.232	0.292	0.771
Race+Attitudes	Black	-0.199	0.265	-0.751	0.453
Race+Attitudes	Brown	-0.076	0.233	-0.327	0.743
Race+All	Black	-0.208	0.268	-0.775	0.438
Race+All	Brown	-0.070	0.239	-0.292	0.771
Contact Media					
Race	Black	-0.059	0.417	-0.141	0.888
Race	Brown	0.095	0.319	0.298	0.766
Race+SES	Black	0.197	0.432	0.457	0.648
Race+SES	Brown	0.349	0.322	1.085	0.278
Race+Attitudes	Black	-0.124	0.471	-0.264	0.792
Race+Attitudes	Brown	0.237	0.356	0.665	0.506
Race+All	Black	0.041	0.516	0.079	0.937
Race+All	Brown	0.349	0.373	0.935	0.350

Source: 2004 International Social Survey Programme.

Note: In the column Models, 'Race' indicates race categories as the only predictor in

the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Political activist in South Africa, International Social Survey Programme.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	-1.907	0.153	-12.449	0.000
Race	Coloured	-0.796	0.182	-4.382	0.000
Race+SES	Black	-0.990	0.254	-3.901	0.000
Race+SES	Coloured	0.043	0.246	0.174	0.862
Race+Attitudes	Black	-1.909	0.182	-10.504	0.000
Race+Attitudes	Coloured	-0.627	0.202	-3.108	0.002
Race+All	Black	-1.183	0.274	-4.310	0.000
Race+All	Coloured	-0.025	0.263	-0.097	0.923
Boycott					
Race	Black	0.610	0.229	2.667	0.008
Race	Coloured	0.341	0.282	1.207	0.228
Race+SES	Black	1.470	0.279	5.275	0.000
Race+SES	Coloured	1.111	0.312	3.558	0.000
Race+Attitudes	Black	0.408	0.238	1.713	0.087
Race+Attitudes	Coloured	0.350	0.284	1.232	0.218
Race+All	Black	1.166	0.291	4.011	0.000
Race+All	Coloured	0.984	0.319	3.087	0.002
Demonstration					
Race	Black	1.615	0.277	5.834	0.000
Race	Coloured	1.322	0.307	4.310	0.000
Race+SES	Black	2.468	0.301	8.196	0.000
Race+SES	Coloured	2.081	0.316	6.582	0.000
Race+Attitudes	Black	1.447	0.282	5.130	0.000
Race+Attitudes	Coloured	1.388	0.309	4.498	0.000
Race+All	Black	2.211	0.312	7.095	0.000
Race+All	Coloured	2.023	0.325	6.215	0.000
Rally					
Race	Black	0.714	0.149	4.795	0.000
Race	Coloured	0.217	0.179	1.214	0.225
Race+SES	Black	1.199	0.192	6.257	0.000
Race+SES	Coloured	0.672	0.205	3.278	0.001

Race+Attitudes	Black	0.644	0.154	4.188	0.000
Race+Attitudes	Coloured	0.322	0.185	1.740	0.082
Race+All	Black	1.028	0.200	5.133	0.000
Race+All	Coloured	0.654	0.215	3.048	0.002
Contact Politicians					
Race	Black	-0.504	0.203	-2.488	0.013
Race	Coloured	-0.165	0.244	-0.678	0.498
Race+SES	Black	0.640	0.284	2.258	0.024
Race+SES	Coloured	0.859	0.294	2.924	0.003
Race+Attitudes	Black	-0.497	0.227	-2.185	0.029
Race+Attitudes	Coloured	0.003	0.261	0.010	0.992
Race+All	Black	0.510	0.313	1.631	0.103
Race+All	Coloured	0.821	0.323	2.540	0.011
Donation, Fundraising					
Race	Black	-0.397	0.168	-2.364	0.018
Race	Coloured	-0.414	0.222	-1.869	0.062
Race+SES	Black	0.409	0.244	1.675	0.094
Race+SES	Coloured	0.318	0.261	1.215	0.224
Race+Attitudes	Black	-0.376	0.188	-2.002	0.045
Race+Attitudes	Coloured	-0.297	0.233	-1.272	0.203
Race+All	Black	0.257	0.265	0.969	0.333
Race+All	Coloured	0.234	0.274	0.854	0.393
Contact Media					
Race	Black	0.295	0.777	0.380	0.704
Race	Coloured	0.687	0.805	0.854	0.393
Race+SES	Black	1.354	0.838	1.616	0.106
Race+SES	Coloured	1.632	0.821	1.987	0.047
Race+Attitudes	Black	0.416	0.801	0.519	0.604
Race+Attitudes	Coloured	0.879	0.802	1.095	0.273
Race+All	Black	1.323	0.883	1.499	0.134
Race+All	Coloured	1.614	0.846	1.909	0.056

Source: 2004 International Social Survey Programme.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the

coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Political activist in the United States, International Social Survey Programme.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	-0.629	0.151	-4.178	0.000
Race+SES	Black	-0.344	0.168	-2.051	0.040
Race+Attitudes	Black	-0.443	0.165	-2.684	0.007
Race+All	Black	-0.300	0.177	-1.693	0.090
Boycott					
Race	Black	-0.791	0.167	-4.743	0.000
Race+SES	Black	-0.546	0.181	-3.013	0.003
Race+Attitudes	Black	-0.658	0.183	-3.598	0.000
Race+All	Black	-0.572	0.193	-2.959	0.003
Demonstration					
Race	Black	0.228	0.180	1.266	0.205
Race+SES	Black	0.420	0.198	2.116	0.034
Race+Attitudes	Black	0.309	0.199	1.553	0.120
Race+All	Black	0.379	0.212	1.789	0.074
Rally					
Race	Black	-0.582	0.176	-3.307	0.001
Race+SES	Black	-0.217	0.194	-1.119	0.263
Race+Attitudes	Black	-0.415	0.203	-2.040	0.041
Race+All	Black	-0.219	0.214	-1.026	0.305
Contact Politicians					
Race	Black	-0.951	0.163	-5.821	0.000
Race+SES	Black	-0.664	0.176	-3.767	0.000
Race+Attitudes	Black	-0.789	0.184	-4.282	0.000
Race+All	Black	-0.631	0.195	-3.243	0.001
Donation, Fundraising					

Race	Black	-0.760	0.151	-5.051	0.000
Race+SES	Black	-0.519	0.164	-3.169	0.002
Race+Attitudes	Black	-0.683	0.162	-4.208	0.000
Race+All	Black	-0.567	0.171	-3.312	0.001
Contact Media					
Race	Black	-0.394	0.229	-1.721	0.085
Race+SES	Black	-0.124	0.242	-0.511	0.609
Race+Attitudes	Black	-0.233	0.252	-0.927	0.354
Race+All	Black	-0.094	0.261	-0.360	0.719

Source: 2004 International Social Survey Programme.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Political activist in Brazil, World Values Survey.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	0.009	0.187	0.050	0.960
Race	Brown	-0.325	0.115	-2.835	0.005
Race+SES	Black	0.229	0.195	1.174	0.240
Race+SES	Brown	-0.191	0.125	-1.530	0.126
Race+Attitudes	Black	0.003	0.190	0.017	0.986
Race+Attitudes	Brown	-0.308	0.116	-2.643	0.008
Race+All	Black	0.209	0.198	1.054	0.292
Race+All	Brown	-0.194	0.125	-1.546	0.122
Boycott					
Race	Black	0.255	0.312	0.818	0.414
Race	Brown	-0.504	0.227	-2.216	0.027
Race+SES	Black	0.477	0.334	1.425	0.154
Race+SES	Brown	-0.292	0.247	-1.184	0.236
Race+Attitudes	Black	0.245	0.310	0.791	0.429
Race+Attitudes	Brown	-0.487	0.230	-2.114	0.034
Race+All	Black	0.438	0.330	1.330	0.184
Race+All	Brown	-0.304	0.248	-1.224	0.221
Demonstration					
Race	Black	0.007	0.248	0.028	0.977
Race	Brown	-0.156	0.149	-1.048	0.295
Race+SES	Black	0.285	0.262	1.087	0.277
Race+SES	Brown	0.116	0.160	0.730	0.466
Race+Attitudes	Black	0.008	0.245	0.034	0.973
Race+Attitudes	Brown	-0.119	0.155	-0.767	0.443
Race+All	Black	0.249	0.259	0.961	0.336
Race+All	Brown	0.118	0.164	0.720	0.472

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Political activist in South Africa, World Values Survey.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	-1.290	0.127	-10.164	0.000
Race	Coloured	-0.288	0.181	-1.591	0.112
Race+SES					
Race+SES	Black	-0.840	0.148	-5.673	0.000
Race+SES	Coloured	-0.041	0.194	-0.213	0.831
Race+Attitudes					
Race+Attitudes	Black	-1.479	0.134	-11.032	0.000
Race+Attitudes	Coloured	-0.374	0.184	-2.037	0.042
Race+All					
Race+All	Black	-1.025	0.156	-6.566	0.000
Race+All	Coloured	-0.137	0.197	-0.697	0.486
Boycott					
Race	Black	1.559	0.276	5.652	0.000
Race	Coloured	1.735	0.316	5.500	0.000
Race+SES					
Race+SES	Black	2.173	0.303	7.163	0.000
Race+SES	Coloured	2.076	0.330	6.283	0.000
Race+Attitudes					
Race+Attitudes	Black	1.411	0.279	5.061	0.000
Race+Attitudes	Coloured	1.673	0.315	5.309	0.000
Race+All					
Race+All	Black	2.058	0.309	6.653	0.000
Race+All	Coloured	2.027	0.331	6.116	0.000
Demonstration					
Race	Black	1.141	0.191	5.973	0.000
Race	Coloured	1.191	0.243	4.897	0.000
Race+SES					
Race+SES	Black	1.684	0.219	7.675	0.000
Race+SES	Coloured	1.473	0.257	5.727	0.000
Race+Attitudes					
Race+Attitudes	Black	0.992	0.194	5.122	0.000
Race+Attitudes	Coloured	1.120	0.243	4.613	0.000
Race+All					
Race+All	Black	1.564	0.228	6.847	0.000
Race+All	Coloured	1.412	0.261	5.414	0.000

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Political activist in the United States, World Values Survey.

Model	Race	Coefficient	Std. error	z-value	p-value
Petition					
Race	Black	-0.518	0.207	-2.499	0.012
Race+SES	Black	-0.362	0.215	-1.684	0.092
Race+Attitudes	Black	-0.340	0.230	-1.475	0.140
Race+All	Black	-0.258	0.244	-1.058	0.290
Boycott					
Race	Black	0.165	0.233	0.708	0.479
Race+SES	Black	0.235	0.241	0.975	0.330
Race+Attitudes	Black	0.360	0.254	1.416	0.157
Race+All	Black	0.321	0.261	1.230	0.219
Demonstration					
Race	Black	0.495	0.247	2.008	0.045
Race+SES	Black	0.623	0.265	2.353	0.019
Race+Attitudes	Black	0.744	0.273	2.728	0.006
Race+All	Black	0.734	0.292	2.512	0.012

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Membership in voluntary organizations in Brazil, World Values Survey.

Model	Race	Coefficient	Std. error	z-value	p-value
Leisure					
Race	Black	-0.227	0.250	-0.907	0.364
Race	Brown	-0.150	0.142	-1.059	0.290
Race+SES	Black	0.014	0.258	0.055	0.956
Race+SES	Brown	0.091	0.154	0.588	0.557
Race+Attitudes	Black	-0.233	0.251	-0.929	0.353
Race+Attitudes	Brown	-0.134	0.143	-0.936	0.349
Race+All	Black	-0.002	0.258	-0.008	0.993
Race+All	Brown	0.092	0.154	0.595	0.552
Interest					
Race	Black	-0.090	0.257	-0.350	0.727
Race	Brown	-0.098	0.155	-0.631	0.528
Race+SES	Black	0.104	0.263	0.394	0.694
Race+SES	Brown	0.122	0.166	0.732	0.464
Race+Attitudes	Black	-0.080	0.262	-0.307	0.759
Race+Attitudes	Brown	-0.064	0.157	-0.407	0.684
Race+All	Black	0.086	0.267	0.321	0.748
Race+All	Brown	0.124	0.166	0.746	0.455
Activist					
Race	Black	-0.386	0.298	-1.296	0.195
Race	Brown	-0.285	0.152	-1.872	0.061
Race+SES	Black	-0.196	0.308	-0.637	0.524
Race+SES	Brown	-0.040	0.161	-0.247	0.805
Race+Attitudes	Black	-0.392	0.298	-1.316	0.188
Race+Attitudes	Brown	-0.274	0.154	-1.779	0.075
Race+All	Black	-0.218	0.309	-0.707	0.479
Race+All	Brown	-0.047	0.161	-0.289	0.772
Church					
Race	Black	-0.202	0.188	-1.075	0.282
Race	Brown	-0.381	0.113	-3.384	0.001
Race+SES	Black	-0.208	0.192	-1.081	0.279
Race+SES	Brown	-0.356	0.119	-2.978	0.003

Race+Attitudes	Black	-0.198	0.188	-1.051	0.293
Race+Attitudes	Brown	-0.381	0.113	-3.369	0.001
Race+All	Black	-0.206	0.193	-1.067	0.286
Race+All	Brown	-0.355	0.120	-2.957	0.003
Political parties					
Race	Black	0.347	0.424	0.818	0.413
Race	Brown	0.205	0.263	0.781	0.435
Race+SES	Black	0.462	0.438	1.055	0.291
Race+SES	Brown	0.338	0.270	1.253	0.210
Race+Attitudes	Black	0.368	0.433	0.850	0.395
Race+Attitudes	Brown	0.281	0.278	1.011	0.312
Race+All	Black	0.386	0.442	0.874	0.382
Race+All	Brown	0.300	0.281	1.067	0.286

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Membership in voluntary organizations in South Africa, World Values Survey.

Model	Race	Coefficient	Std. error	z-value	p-value
Leisure					
Race	Black	-0.497	0.111	-4.493	0.000
Race	Coloured	-0.146	0.174	-0.836	0.403
Race+SES	Black	-0.648	0.128	-5.053	0.000
Race+SES	Coloured	-0.155	0.182	-0.855	0.393
Race+Attitudes	Black	-0.607	0.113	-5.367	0.000
Race+Attitudes	Coloured	-0.175	0.175	-0.999	0.318
Race+All	Black	-0.796	0.133	-5.961	0.000
Race+All	Coloured	-0.205	0.183	-1.126	0.260
Interest					
Race	Black	-0.478	0.136	-3.516	0.000
Race	Coloured	-0.283	0.212	-1.331	0.183
Race+SES	Black	-0.210	0.162	-1.298	0.194
Race+SES	Coloured	-0.185	0.222	-0.832	0.405
Race+Attitudes	Black	-0.550	0.136	-4.041	0.000
Race+Attitudes	Coloured	-0.283	0.214	-1.319	0.187
Race+All	Black	-0.257	0.163	-1.576	0.115
Race+All	Coloured	-0.178	0.223	-0.799	0.424
Activist					
Race	Black	-1.065	0.143	-7.463	0.000
Race	Coloured	-0.891	0.268	-3.323	0.001
Race+SES	Black	-0.694	0.157	-4.433	0.000
Race+SES	Coloured	-0.682	0.270	-2.529	0.011
Race+Attitudes	Black	-1.116	0.147	-7.568	0.000
Race+Attitudes	Coloured	-0.878	0.269	-3.258	0.001
Race+All	Black	-0.746	0.162	-4.602	0.000
Race+All	Coloured	-0.674	0.272	-2.479	0.013
Church					
Race	Black	-0.626	0.102	-6.138	0.000
Race	Coloured	0.093	0.157	0.592	0.554
Race+SES	Black	-0.482	0.113	-4.258	0.000
Race+SES	Coloured	0.205	0.164	1.247	0.213

Race+Attitudes	Black	-0.652	0.103	-6.361	0.000
Race+Attitudes	Coloured	0.089	0.157	0.567	0.570
Race+All	Black	-0.546	0.116	-4.720	0.000
Race+All	Coloured	0.183	0.165	1.110	0.267
Political parties					
Race	Black	0.296	0.202	1.467	0.142
Race	Coloured	-0.138	0.319	-0.432	0.665
Race+SES	Black	0.577	0.219	2.642	0.008
Race+SES	Coloured	-0.026	0.328	-0.079	0.937
Race+Attitudes	Black	-0.024	0.208	-0.115	0.908
Race+Attitudes	Coloured	-0.260	0.325	-0.800	0.424
Race+All	Black	0.193	0.232	0.832	0.405
Race+All	Coloured	-0.174	0.336	-0.517	0.605

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.

Regression results:
Membership in voluntary organizations in the United States, World Values Survey.

Model	Race	Coefficient	Std. error	Z-value	p-value
Leisure					
Race	Black	0.131	0.210	0.624	0.533
Race+SES	Black	0.288	0.227	1.266	0.205
Race+Attitudes	Black	0.193	0.210	0.917	0.359
Race+All	Black	0.301	0.227	1.326	0.185
Interest					
Race	Black	-0.124	0.249	-0.496	0.620
Race+SES	Black	-0.032	0.262	-0.123	0.902
Race+Attitudes	Black	-0.041	0.255	-0.159	0.874
Race+All	Black	-0.013	0.267	-0.049	0.961
Activist					
Race	Black	-0.378	0.290	-1.307	0.191
Race+SES	Black	-0.217	0.299	-0.728	0.467
Race+Attitudes	Black	-0.289	0.293	-0.985	0.325
Race+All	Black	-0.197	0.304	-0.649	0.516
Church					
Race	Black	0.561	0.207	2.708	0.007
Race+SES	Black	0.750	0.222	3.377	0.001
Race+Attitudes	Black	0.619	0.210	2.951	0.003
Race+All	Black	0.775	0.223	3.469	0.001
Political parties					
Race	Black	-0.062	0.255	-0.242	0.809
Race+SES	Black	0.065	0.261	0.248	0.804
Race+Attitudes	Black	0.133	0.297	0.449	0.653
Race+All	Black	0.153	0.302	0.506	0.613

Source: World Values Survey Wave 5.

Note: In the column Models, 'Race' indicates race categories as the only predictor in the model; 'Race+SES' indicates the inclusion of sociodemographics as control variables; 'Race+Attitudes' indicates controlling for political attitudes; 'Race+All' indicates controlling for both sociodemographics and political attitudes. Only the coefficients for the variable Race is reported; coefficients for the other variables are omitted. The reference category in the race variable, White, is omitted.